ol Abgo] 200km o] A2 & A2 7H=T] A4 60km 2 EE|th
7} S7Fol A4 50km 2 EE A 3A17F 3020] AT} A4 60km 2
g2 AZE?

® 80km @ 100km ® 110km

@ 120km 3 150km



6km ©] 22 b=l A% skn 2 7Fehrh U A1 A4 3lan ©] 42
o= ZEU 1412+ 40 2o ARk, o] u, A% 5k 2 7+ A 2]

@ 2km @ 2.5km ® 3km

@ 3.5km 3B 4km



oA =MB7HA] 7h=d W= A% 5 km 2 ZojA 7kl RIS = 30
B Fofl ZAFAAE EFA A1 10 km 2 7 F AR FA] o] Ao
TR i), Holl A EA @R o] AR5 oheiet

B e km



U7} st S e vl 50 m 2 Aoi7t 2] 15 850 o] AHAES
Bt ojE 900m = otw 2 E9hsle] otw AR A Tt o]u]
Tt et ztA] Zh=d A™ AREE Aotof et

B e 2



TULS A=Y 24w A4 3k, 2 TE AlS 4km 2 A o)A
= 4R

3
% 4A17ro0] Asleh. A0 PolS xkmet @ W), xo] B Ao
qure AL



Adl= A4S ot 24 o= A& 2km 2, T2 43 A&
4km 2 WA F 1 A 30 2ol ARtH A&7t 242 F A
=7

@® 5km 3B 6km

D 2km ® 3km 3 4km



510km Ho]A = F= AL A, B 7} Ao &6k A = Al& 75km
, B = Al% 95km 2 AAFAE vk Hal g9 F AR 2 A7

Fofl ThA =712



@D 108
=] ®? 20H
=] B 30 %
=] @ 408
=1 G 50 H



9. ofd 42 SAtste dl 222 Wie Al 3km , WS die A%
Skm & ZolA F 4 A AFek AR Zol=? (¢, S2Hd mjef

@ 5.5km @ 6.5km ® 7.5km



10. A°lA B7HA] A4 14km 2 1A|ZE BollAl C7HA] A4 3km 2 2
AR ATt gk AollA] C7HR] €] AR E Fotef et

aaf 7km



4r oo
Mﬂm
SRSl
mowrﬂ
-
.DIO#,UI
B
\Uli_.‘o|
ﬂuvmﬂmo
ﬂlmio
i Z o
mmo.i_lmmo
=<z
B3 il
Eoom_mat
3 o BK
LOT 7ﬂ
Hfh__/ll_ﬂmw_
%&Ima
ﬂﬁe%
ol [
%aﬂmo
%aﬁ%
o 4r 7
N o W
o 2 M
B =

;oT
ld
0

_#OT

TH
o

LOT

iz
0

__oT

il
L0

__oT

i
e



12.

120m 2, A2ole B4 180m 2 A2E

% AR Fotolet.



